1) Atright, you see a system of masses with massless, frictionless pulleys. @l
However, there is a coefficient of friction of 0.4 between the center .) 2 kg (.
block and the surface it is on. The system of masses is released from rest - r
with each of the hanging masses 4 m off the floor. Find the following
three quantities by any means you like in any order you like:

a) The tension in the string connected to the 1 kg mass. \?N @ 3 kg 1kg
b) The speed when a mass hits the ground. "IMT c Y % NI 2
c) The acceleration of the system —2Jwi|s% Wi g wurd
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3. There are two planets made from the same substance. Planet B is three times as large as planet A, thy
8= 3ra. Imagine that I visit each planet.
an answer alone is worth zero points — please explain your logic:

a) What is the ratio of the masses of the two planets? mg = A my . This question particularly doesn’t !
really fall under one of the 4 lenses, but show your logic. -
(e 3va | Kiow that Volumje - AEnsity = WA, and since. ~
Va = &7y, AeNSIY (s concant, volume 1S Yiae factor ynas- i
A= S Tra® Aetevmines e e G- Magses The volume G
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b) Wheredo I weigh more; aiid What is the ratio of my weight on each planet? Fpg =3 Fa. This
question particularly doesn’t really fall under one of the 4 lenses, but show your logic.
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